EARAROBEEIERT — 2 N— IBISH —F

2013544280 (B) SEIZ#R4H

B === ®

G1 ¥Y7%R4m®Lt (EE)

(5%E) T8

(xwlw | lmEmml - |2 5 oo 8

[A&£] 1 7 132,000,000 § ~ 2 & :53,000,000 @ ~ 3 j&:33,000,000 8 4 3 :20,000,000 " 5 3 :13,200,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
44 | BBER 3:14.2 7-7-3-2 | 36.2|117.9| 2 496 | FHEIBX (i)
1 6| 7/ —*/ 58.0 (-) o) | B FrF-L—sry
R:ZFAD-E B:F450-Y1 BT — L
o= # 5 | K& 3:14.4 9-9-6-2 |36.4[116.1| 3 460 | BEREEE (RR)
20111 f—t>7— 58.0 (1 1/4) 0 BI&E
R:FA =TT~ B:TUSwRAVET HET7— L
R K > 7] G Evt 3:14.7 11-11-10-4 | 36.5 | 113.2 | 6 482 | E. #>0v 7 (@5
317l13/BLY KA = - @) -12) | R- 1 maly
A :Cadeaux Genereux F:Artisia Foursome Thorough
¢ = 4= 4 5 | HEES 3:15.0 11-11-14-10| 36.4 | 110.0 | 4 486 | BHEEZ (ER)
4 TRIAYZTT7+« 58.0 (1 3/4) (+6) ITRER—
RLN—=YI54 BT RIAYTLY J=HrTp— L
N o A HEEE :15. -13-6- . . AREN (ER)
5 T KY T o4 ne 3(715t; 14-13-6-4 | 37.0 | 109.6 | 1 ?8)2 /J\ﬂ@gﬂ
L:ZFAT—IK BRI TS50 HO%5
N FlgEX :15. —16-12- . . EET (EH)
. SwH—A1 [B] o9 é?a.o 3(31/54)2 16-16-12-4 | 37.0 | 108.6 | 8 (ﬁg) =.§Ba;u§%
L:Yv TRy b BINVYANZORTF TAAA T 7 — L
> o 410 | C. FL—H 3:15.6 8-8-6-7 |37.4|105.2| 11 506 | EESR (EH#)
7 1 xNx vy [B] 58.0 @172 0 | B $3TLy k575747
LiF—TARTN=—b B:ahIHF EvilLy RTp—L
o= 4 L pE— : -0 HAFE (FR)
8 R AHAINS A A X 6 o 3(/1\3? 2-2-2-1 | 37.7|105.6| 14 ?(1))6 w;ﬂEEu
Rid—IWRFU2—Ib B hUhSIVE [0 ¢
=t o S : 4t 5 | EP#E 3:15.9 18-18-16-14| 37.0 | 101.7 | 5 488 | WEBX (ER)
9 TANT— R 58.0 @ () | TR
L:xA1=r—X B:wA4F /T B B2
; 47 | FHEBZ 3:15. 13-13-14-12| 37.1 | 101.9 | 10 | 490 |MIZFEH (=)
10 747y 27 [B] 5.0 (NF) () |EFEAE—LF(>TZ (1)
B2 Y E— B.IT7TI—"J J—HrTr—LA
. 4 11 LHRE 3:16.2 14-13-16-16| 37.2 | 99.1 | 16 454 | FHHREZ (ER)
11 N G U R 58.0 (1 3/4) © KR
Z:TaAL RNy — B:X—F07 +H H®KEF
RS £ 5 | ditk— 3:16.5 9-9-12-11 | 37.9| 97.3 | 13 | 476 |BERZ (EX)
12/8/17| VY FT1T 12 77| 580 @ o | W ERA-2L-v>y
R:TITRREFAY BT —T 4R J—HTp— L
-5 st 5 | JIESH 3:16.6 4-4-3-7 |38.5| 97.4 | 15 | 476 |HAEAEE (Ex)
1315 9| Z=NN=HNN2T 58.0 (3/4) (-6) A(76) YrF—L—vy
R:xA21=ZGr7—2 BG4 7 b)—=N2Y J—=HrTp—L
5 VTS 4 6 | BEEfRZ 3:16.7 16-16-16-9 | 38.2 | 96.0 | 17 | 486 |®/IIFEZ (R®)
14|5|10| * 1> 23T HINT 8.0 (7€) o) | B
LT3R 8— B:E4 I TNERZR =e)
o — o4 | BER 3:18.5 6-6-9-12 | 39.9| 83.4 | 9 520 | RIEBN (BH)
1517115 HR—=—FT 14 XAZ— 58.0x (21 4) (+8) & BETF
LN—=YIS4 BHET-L J—HrTr—L
= 4 5 | 8Kt 3:19.3 3-3-5-16 | 40.8| 78.8 | 7 486 | REERK (RR)
16|18 18| LR AT~ 5.0 ) o |BEBE
R:v¥/ by THY B:ozVU—-I ST -4
¢ N A 4 8 | ENEN 3:19.4 5-5-10-18 | 40.4 | 77.0 | 18 518 | B (FR)
17\ |14 1Y/ =7 5.0 (172) Gay | R
RTIRREFAL BT IA—0 Y+ B IS
3 . # 5 | ERH 3:21.3 1-1-1-14 |43.2 | 69.6 | 12 | 478 |#IILFA (3EX)
181|277 zal 8.0 (519 o |28
R:ZFAT—IE B:iLy REIVELR BRI
@ 21 L
£y 49.2-36.3
NA> 24 L | 13.0-11.9-11.6-11.4-11.5-11.6-11.7-12.5-12.1-12.4-12.5-12.8-12.9-11.9-11 .8-12.6
® I—F—&EBIERL
|S=7r= 2-16-18-9,14,15-6,5-(1,17) (7,13)12(11,8) (4,10)-3
Aol=5"= 2=16-18-9,14,15-6,5(1,17) (7,13) (11,12,8) (4,10)-3
== 2=16(9,6)18(5,1,8)15(14,13) (17,4) (7,12) (11,3,10)
41—F— (x16,6,1) (13,8,4) (9,5)10,7,17(15,12) (2,3) (18,11) 14
[ RN
B Oj 6 620M 794K 1-6 930 & 1-3 2,710M &R 1-6-13 21,880
BB 6 300H 6-13 2,290 B E 1-6 3,190M EE 6-1-13 111,830
1 650/ 1-13 3,750 B H 6-1 6,500M
13 1,540

ABICOVWTRDTEEERROODE. TR LIV,




